Assembly Instructions

Upgrade / Replace Keeper

CLP500 / CLP520 / CLP950

ELECTRICAL+INDUSTRIAL | TOOLS TECHNOLUGIES

TM
\ THEW &
‘ ’\H e
GROUP

02:1006 OS\

Quality Certified [
AU1313-QC-EC-SC

G




T NG AATS TM-UL011 Assembly Instructions — Upgrade CLP500 to CLP520 Revision No. 5 Issue Date:23/04/19

DIRECTIONS - TYPE 1 & 2

—_

Remove the M6 nylock nut using a small ratchet and socket;

2. Remove the washers and keeper;

3. Determine if the spindle has either a long (type 1) or short (type 2) keeper attachment. The spacer is only required for
the long keeper attachment;

4. Place the new components on the spindle as shown in the diagrams below;

9. Firmly tighten the M6 nylock nut.

ME Mylock Mut ME Nylock Mut
ME Washer ME Washer
Current Keeper TYPE 1 Current Keeper
M10 Washer MID Washer
Mew Spacer
Clamp Body Glamp Body
Spindle Variations
Clamp
. Clamp
Spindle .
P Bayanet Spindle
Assembly Order Sh@ . Assembly Order
gun
Before leeper Lipgrade Ring Taplin - Handle After keeper Upgrade

ME Mylock Mut ME Mylock Mut
MWE Washer ME Washer
Current Keeper Current Keeper
M10 Washer TYPE 2 W10 Washer
Clamp Body . Clamp Body
Spindle Variations _E
Clamp £ Clamp
Spindle Bayanet = Spindle
;'-‘-.aserhhly,r Order E?nntgun Taplin  Handle ﬂ Assembly Order
Before Keeper Upgrade g f After keeper Upgrade

Printed copies are uncontrolled Page 2 of 4



T oG A% TS TM-UI011 Assembly Instructions — Upgrade CLP500 to CLP520 Revision No. 5 Issue Date:23/04/19

DIRECTIONS - TYPE 3

Remove the M6 x 16 socket head cap screw using the appropriate allen key ;

Remove the washers and keeper;

Place the new components on the spindle as shown in the diagram below;

Apply 1 drop of Loctite 262 or similar thread locking compound the thread of the cap screw;
Firmly tighten M6 x 16 cap screw.

ISR

e x 16 Allen Head Screw MG x 16 Allen Head Screw
/\\ (ihen assembiling apply 1 drop of Loclie 262 or similar
thread locking compousnd fo thread of the screw)
¥ ME YWasher M6 'li::!asher
o K eepef
€ ool M10 Washer
S M1D Washer TYPE 3 HEW Spacﬂr
of Clamp Body Clamp Body
Clamp Spindle Variations Cla.mp
Spindle Splndle
Bayonet

5%+

Assembly Order Ezlr:]gtgun Taphin - Handle Assembly Order

Before Keeper Upgrade After Keeper Upgrade

SPARE PARTS

A variety of keepers and spindles are available for the CLP500 / CLP520 and the CLP950 clamps upon request.

Printed copies are uncontrolled Page 3 of 4



T NG AATS TM-UL011 Assembly Instructions — Upgrade CLP500 to CLP520 Revision No. 5 Issue Date:23/04/19

REPAIR

The end user must not repair or modify any component associated with this device without written permission from TMAC.

If repair is required contact TMAC.

TMAC

45 Enterprise St Cleveland
QLD 4163 Australia
Tel: (+61) 07 3826 6000 http://www.tmacgroup.com.au/

DEFECTS / WARRANTY

DEFECTS

Goods are warranted to be free from defects. Provided they have been used strictly as recommended and subjected only to
fair wear and tear, Goods (including parts within) which are found to be defective within 90 days after delivery to the Buyer will
be repaired or replaced at the option of the Seller and at its expense. Repair or replacement by the Seller is the exclusive
remedies of the Buyer.

WARRANTY

To the maximum extent permitted by law, the Seller makes no warranties, either express or implied, as to merchantability,
fitness for purpose or otherwise with respect to the Goods other than in paragraph above and as required by statute. The
Seller is not liable for any prospective profits or special, indirect or consequential damages or any general loss or damage, or
for any expense resulting from use by the Buyer or others of defective Goods. The Seller’s liability is limited to no more than
the sale price of the Goods plus replacement delivery charges. Prior authority for the return of goods is required by the seller.

Please contact the seller by email sales@tmacgroup.com.au, phone 07 3826 6000 or fax 07 3826 6066 for claims related to
defective / warranty of goods provided.

FOR THE FULL TERMS AND CONDITIONS PLEASE REFER TO TMAC “STANDARD TERMS OF TRADE”

Printed copies are uncontrolled Page 4 of 4


http://www.tmacgroup.com.au/

